Soustraction Avec Un Zéro (])

1000
- 296

1000
-453

1000
- 968

10000
-8900

1000
- 663

1000
- 845

1000
-462

Calculez la différence.

10 000 10 000
-9 258 -1 209
1000 1000
- 318 - 645
10 000 10 000
- 843 -3176
1000 1000
- 959 - 308
1000 1000
-116 -578
10 000 1000
-32 - 394
10 000 1000
-3035 -451

1000
- 728

1000
- 207

1000
- 536

1000
-124

10 000
-6134

1000
- 370

1000
-90
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Soustraction Avec Un Zéro (J) Réponses

Calculez la différence.

1000 10 000 10 000 1000
- 296 -9 258 -1 209 -728
704 742 8791 272
1000 1000 1000 1000
-453 - 318 - 645 - 207
547 682 355 793
1000 10 000 10 000 1000
- 968 - 843 -3176 - 536
32 9157 6 824 464
10 000 1000 1000 1000
-8900 - 959 - 308 -124
1100 41 692 876
1000 1000 1000 10 000
- 663 -116 -578 -6134
337 884 422 3 866
1000 10 000 1000 1000
- 845 -32 - 394 - 370
155 9968 606 630
1000 10 000 1000 1000
-462 -3035 -451 -90
538 6 965 549 910
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